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1

response on the Answer Sheet. Thus a “No

b i),

(d) Noimp

d part. If one of them
than the underlined part,
> on the Answer Sheet against
nding letter (a), (b) or (c). If none of the

improves the sentence, indicate (d) as

nt” response will be signified by the

Suppose if you are selected, will you give us a
treat ?

(a) Supposing if
(b)  If suppose
fc)

(d) No improvement

I would rather have a no e&yQan a
mean friend. "

(a) would moreh

(b) would ha
(¢) will

ement

decided to take the help of a guide lest | 8.
- miss the way.
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He wanted my pe
(a) totake part in

(b) for to take part in
(¢) for to taking part in
(d) Noimprovement

We are doing this in the interest of the poors.

(a) inthein of the poors

(b) of the poor

in th
(c) f% rests of the poor
d rovement

(d) *
B%ached his destination at night.

(a) destination
(b) at his destination
(¢) on his destination

(d) No improvement

One is often pleased with himself.
(a) with one’s self

(b) with themselves

(¢) with oneself

(d) Noimprovement

Unless you are not very careful, you will run
into debt.

(a) are very
(b) will be very
(c) may be




that he may meet

No improvement

% his ascent for ;
tour. ’

10.  This scooter is not as efficient as it used to be;

Fie ] instead it is still a very useful machine. My father has
; (a) similarly :
(a)
(b) furthermore
j roof
J (¢) nevertheless
| = ( assent
; (d) Noimprovement |
(d) No improvement
The teacher as well as his wife we % A
15. Heavy work has been thrusted on me. %
(a) . was invited .:,’
(a) has been thrust _, e

d N TOV! t
@ . (d) No improvement

F : (b) were also invi e
‘ 3 (b) has thrusted 7
W (0 werebe ' y

s %‘ : (¢) has thrust down TR

No sooner had he cumpleted his f
than he fell seriously ill.

' (a) hehad completed
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1t When_ever-we choose to, isn't it ?

: ﬁm‘t we
are we not 3
don’t we improvement SR
No improvement 3 #esh is working in this factory for the pﬁ K
ee months. ;’

(a) has been working
He was too conscientious in the disc e

of his duties that he could not sérve that
exploiter for long. (c)

(a) that he would not@\ (@ Noimprovement

for serving I am waiting for three-quarters of an hour.
to serv (a) I am waiting since “ 4
Nogfprovement (b)  Ihave waited since

(b) has been worked

had worked

(¢) Ihave been waiting for

(d) No improvement

one way or the other; you can't

This book is the more inte
(a)
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¥ Q
which 51 people were killed c.

S
The correct sequence should be

(a) PQRS ) QRSP

© QPSR @ QRPS@+
The ultimate hope will force the nations that the destructive nature of weapons

p Q
to give up war has not been fulfill ()
TR
The correct sequence sho@
(a PSQR v’ (b) PQRS
(c0 QPRS (d) PRQS

%

P

The lead@ opposition, in the manner he had planned to convince them,
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an is generally the one who can work very hard when he must work

e Q | 9 |
- who can play most heartily when he has the chance of playin,
S

The correct sequence should be @ ;
@ QRSP ®  PS | i
(© SPQR (d) : k

31. Dear Lodger, I agree, the roof is le g; there would be no need while it is ra.lmng

¢ gr P Q
and when the Sun @6&: t it repau'ed

The correct seq uld be

b QRS% ®) SQRP
© F% @ PRQS
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i i i at high pri
Q R & %

" The correct sequence should be

(@ SQPR ®» QRSP (b, < 4
© RQPS @ QPSR@\‘ v

35. as environmental tools for military purpose ing various new uses fé-
P R -
the world’s fastest oomputers initiall ;% ;
The correct sequence should - % %?H
@ SQRP @ ® PQRS ‘ B
@ RPSQ % (d QPSR
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e questions based on
passage and answer the
i are required to select your
n the contents of the passage and
thor only.

Passage - 1

One of the most important things to notice
t the power of art is the way in which great
‘works continue to exert their influence through the
ages. Scientific discoveries which are of major
importance at the time when they are made are
superseded. Thus, Newton’s theory of gravitation
has been superseded by Einstein’s theory of
relativity. Hence the work of great scientists ha
value in stages on the way to a goal which
‘supersedes  them. speaking,
achievements of generals, politicians
statesmen have an importance o ‘ng, own
time. Hence these people and tl@, eat as
they may have been are lik i nes which
- mankind passes on its wa something else. But
with works of art it is hé place which they
occupy in the esti eeding ages and the
which they over men’s spirits are as
as they were in the age which produced them;
their power tends to increase with time, as
to  better understood.

Broadly

T

‘;}‘n‘

i
l",
[
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 passages. After

the theory of
with the theory of gr:
the theory of relativi

comparison to the theory of g
the theory of relativity k m
the theory of 3

(a)

(b)

(c)

improvement over

gravitation.

the theo
the t

lativity has suppressed |
gravitation.

39. ements of generals, politicians and
te§men have been compared to milestones
e author because
(a) they are inscribed on the milestones.
(b) they have contemporary relevance.
(¢) they have topical and historical interest.
(d) they are strong and lasting stones.
40. How is a work of art different from the work

of a scientist ?

(a) A work of art is as permanent as the

work of a scientist.

(b) The influence of a work of art increases ]
from age to age unlike the work of a
scientist which diminishes in c ‘
time.

(c) Aworkofﬁrthasnﬂ

the work o€a aclegtl




ut most women live longer
ey have a better chance of
ey can beat men at operations
: nty and the ablhty to work

ﬁﬁn men. The truth is that each gender
the other in certain kinds of activities.
say that one is stronger than the other is to

? Which one of the following statements best
reflects the main contention of the author ?
(a) In most cases men are stronger than |
women. i
(b) Since women are healthier than men|
they are also stronger. £ ¢ Ve >
(¢) In some activities -“afwa"’onger
than women and in some others women
are stronger tha en
(d) Men and wo aally strong.
42. The author that any dispute about

whether or not are stronger than women
is meaningless, because
(@) it is an already established fact that
men are stronger than women.
the word ‘stronger’ can be interpreted in
- various ways.

assess the comparative

‘and women.
that might harm

N\
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(¢) in some of the activities v
an impression that they are
than men.

(d) in fact women are inferior to men in
every respect.

From the passage, which of the following
statements is most likely to be correct ?

(a) Women live er than men because
they can A%iseases better than
men.

(b) Monoteno living conditions make
w onger than men.

(c) 1 men are incapable of running,
ing and doing physical labour
cause they are not strong.

) 4 Statistically speaking, most women live
longer than most men.

Passage - 3

N

In national no less than in individual life
there are no watertight compartments. No sharp
lines can be drawn to mark off the political from the
moral, the social from the economic regions of life.
Politicians often talk as though one has only to
introduce certain political and economic changes for
paradise to descend on earth, forgetful of the fact
that the efficiency of an institution depends on the
way it is worked, which itself is determined by the
character and wisdom of the men who work it.

45. Which one of the following statements most

clearly suggests the central theme of the
passage ?

(a) Political and economic changes can
solve all the problems facing the nation.

(b) There is no difference between the
political, moral, social and eaonom1
regions of life.

(¢ It is not the institutions that

important but the character
wisdom of the people who man
National progre"‘ depends



- each section of society.

: Spheres of life which are independent
and unconnected with one another.

Which one of the following statements most
correctly reflects the attitude of the author
towards politicians’ opinions ?

(a)
: (b) The author believes what the po@'l
say. Q
(c) The author is scepti a% claims
of the politicians.
(d) The author at the opinions of
5 the polit% ntradictory.

m oneé of the following statements most
ly indicates the implication of the

‘paradise to descend on earth’ ?

d of perfect economic, political

y i e y ‘
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1
~public

gl &
is often very difficu
just big hills. Paths are v
mountainsides are straight up and
may take many. hours to climb as
hundred feet. There is always the dan
may fall off and be killed or injured. Men ta
conquering a mountain. It is a wonderful fi
in after climbing for h
and may be even You look down and s
the whole co low you. You feel God-like.
Italian pri s of war escaped from a prison
i %the war. They did not try to g
own country, for they knew that was
. Instead they climbed to the top of

reach the top of a mo

Kenya, and then they came down again and

The author totally disbelieves what the | Mo j
politicians say. ve themselves up. They had wanted to get that

feeling of freedom that one has, after climbing a
difficult mountain. i

49. Some men like to climb mountains because :
(a) they do not like to play football or ! 1
cricket.
(b)  they know the trick of climbing.
(¢) they want to have a wonderful feeling.
(d)  they like to face danger.
50. To climb a mountain is often difficult be

(a)
®
©

Ty
."f\'

mountains are big hills.

it consumes more time
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e in the Answer Sheet against the correspon
wurmpanse should be indicated as (d).

: by two years. No error.
(b) (© d

1 finished writing the letter, I could not help admiring myself
e (a) (b)
 tohave achieved the impossible. No error.
(© )

i

‘

59, I Iam glad that you are here. No error.

(a) M (c) : \ @
60. He will be cured from his fever. No error. @

o) - (b) (e)

61. Though he is a gifted comedian, he preft end his spare time watching horror movies.
(a) (b) (c)

No error.

g

"33. The writer of this p stworth No error.
i m@f china clay. No error.

(b () (d)

er sisters were here. No error.

(b) (o) (d

orant are easily duped. No error.
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Coleridge as well as Wordsworth were of the opinion that the opposite of poetry is

5 (a) (b)
- not prose but science. No error,
(c) (d) 6

71. He was wurted arrest in order to protest agamst

camsptwn among the government servants. No e
(c)

72. Mr. Joshi was, however, sure that the id ever work in practice. No error.

(a) () (b) © @)

whether I could buy a tape recorder for him. No error.
(b) (c) (d

78. As I was leaving for Delhi, he

(a)

74.

@with the Principal that they were too poor to pay his tuition fee.

(a) (b) (e)

No error
(d)

75. For young Donald, peace in Vietnam was almost terrible as war. No error.
(a) (b) (e) (d)

76. ‘That Brutus, who was his trusted friend had attacked on him
(a) (b)

 caused heartbreak to Julius Caesar. No error.

- (e) : (d)

(13-B)

T A )
e e i
BN . s
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4 ¥ J‘ ‘ “1’
from his native land to London Zoo, he became a favourite of Queen V

transatlantic voyage aboard SS Assyrian Monarch.
ence should be :

_ ®) SRQP
PSRQ (d) RQSP

2
6 |

S1: The bureaucrat and the social worker are men of totally different orientations and styles of 4

functioning.

 86: The world will be a better place to live in if they learn a‘l@m each other.

g' . g P: The other is considered to be a man ever on the%
E" - Q: Heisportrayed as a man fond of rules aboye all othef things.
S

..

The one is regarded as given to sedent: doing a lot of paper work.
Driven by an urge to help others he i 1 nt with red tape and unnecessary delays.
The proper sequence should be

(8 PQRS (b) Q§
(¢ SRQP @ | QPBR

S1: Universities stitutions.
S86: It is the rtant institution in the complex process of knowledge creation and
distributi

Traditionally elite mstltutmns, the modern umvermty has provided social mob:hty to
‘previously dlsfranchlsed groups.

nporary university stands at the centre of its society.
@mon historical roots yet are deeply embedded in their societies.

the medieval period to transmit established knowledge and provide training
ons, universities have become a primary creator of new kmadge
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od to go to England to study to be a lawyer,
t i ‘him and he did not do well.
'@m'mmmmmmawlmmmmm-
S: d not be easy.
m proper sequence should be
(@ PSRQ ) SQPR

(© PRQS (d QPSR c.

Iu S1: Helen graduated in 1904 with special honours in English.
\ 86 : Her dress was torn and roses were snatched from her h

P: She was twenty-four years old. !
i Q: She was invited to the St. Louis Expositién in 1904 to awaken worldwide interest in the
i education of the deaf-blind. |
| ! R: Buton Helen Keller Day the crowds got out of hand.
' i S: Requests were already flowing in fo ces and for magazine articles.
" The proper sequence should be
(a) QPSR (b) ;
(© PSQR Q P
85. S1: One of the Qﬂientists who chose to throw in their lot with Rutherford was an
Oxford phy: ist, Frederick Soddy.
: S6: We no amma rays are a particularly fierce form of X-rays.

ociation with Rutherford lasted only two years, but that was long enough to

ple face of physics.

was just 23.
| that thorium changed into a new element, thorium X, and in the proc

apparently a gas and at the same time a third type of ray, which they

lette W ‘ Bapregead\gs Sales e PV L
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sion and friction at the nozzles heat the fluid so that the temperature in the central _
ea\ntynses steadily. :

=
S:  Amotor and pulley inside the container turn a rotor wheel, which,iri'tupn forces the fluid again r
and again through narrow nozzles into a central cavity. 1 |
The proper sequence should be @ , 1
(@ RPSQ ' +
() SPQR
(0 QSRP .
(d SRPQ

to be further tlghten

 S6: At the same llution control measures are needed to check the discharge of
‘ poisonous g emicals by a host of other industries which are equally responsible for
poisoning

'90. S1: Thereis no doubt that 1& erning imports, manufacture and the use of pesticides need
L €< up. !

ical and feasible approach is required to tackle this problem.
1 deny the importance of pesticides in our agriculture.
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A ¢
lin Simla. (a) She was homesick.
(b) It %
(c) He A
nation : Out of the list given in item K, only, oy’ is the correct answer because usually, a boy,
horse or @ dog, attends school. So ‘(a)’ is to be marked on the Answer Sheet for item K. A boy is u
t0 as ‘he’, so for item L, (c)’ is the correct answer. Notice that to solve the first item K, you

b

 rest of the sentence and then see what fits best.
Passage - 1 6
s - 91. 92.
‘Many of us believe that science is something modern, (a) if e isthat (a) men hasbeen
(b) tho (b) people
(c SS (c) man
93. ;
using science for (a) the very long time. However, it l@ a greater effect on human lives in

(b) a have
(c) that (¢) had

95. 96.

thelast 25 (a) and 30 years than in the hu@a fyears (a) from the invention of the plough. The
(b) or (b) for
(c) either @‘ (o) since
oo x 98,
~ (a) marvellous gifts of science@ e modern life (a) dull  and comfortable. But science has
costly (b) exciting
inexpensive (c) aimless
; 100.
i @d new problems. One of these which may become (a) bad in the years to
‘ (b) worse

(c) good

: 103. -
s small indeed. Today if you (a) leave ~ New Delhi at 4.00 i
¢ (b) will leave
(c) would leave

(s
et o

Scanned by CamScanner



g ,
they (a) canbe  hammered, pulled and y
(b) cannot be
(e) a
, 109.
by mean of  strong machines. It is more easy to shape (@) the piece of metal
(b) by meaning of (b) that

(¢) by means of a :

: 110. @ i

as just been (a) lightly heated because heat softens it. Very great/ieat must need tomelta
(b) warmly . (b) been needed

(c) now ‘ (b (c) is needed
: 112. 113.
metal to its liquid (a) flow.  Metal workers always @ uid metal (a) out of a hollow form
(b) condition. (b) into .
(c) content. (c) onto
114.
called a mould, usually made of (a) speciali ared moulding sand held in a box of wood or iron. -
(b) s &‘m
(©

117.
e moulding boxes are broken open and the (a) liquid

(b) solid

115. 116.
(a) Before the metal (a) h.

cool
Vi

n cooled

(b) This
(¢) Thusit

(c) soiled
‘ 118.
tal shapes out of the moulds. (a) That process is called casting. Metal objects that
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